24,750.00

825.00

CF

30

North Carolina Department of Transportation PURCHASE ORDER CONTRACT BID FORM

WBS Number: 3BPR.10711, 3BPR.20711, 3BPR.10671, 3BPR.20671, 3B.107111, 3B.207111, 3B.106711, 3B206711, ETC.

Pender/Onslow On Call Repair And /Or Replacement of Bridge Expansion Joints

ITEM	DESC	SECT	DESCRIPTION	QTY	UNIT	UNIT PRICE	AMOUNT BID
1	0000915000-N	SP	MOBILIZATION	20	EA	5,000.00	Ca.000,001
2	0000820000-N	SP	PORTABLE LIGHTING	10	DAY	100.00	1,000,00
			ASPHALT JOINT REPAIR/REPLACEMENT				
3	8867000000-E	SP	(0"- 6" WIDE W/ PLATE)	350	LF	350.W	122,500.00
4	8867000000-E	SP	ASPHALT JOINT REPAIR/REPLACEMENT (6"- 12" WIDE W/ PLATE)	350	LF	H00.00	140,000,00
5	8867000000-E	SP	ASPHALT JOINT REPAIR/REPLACEMENT (OVER 12" WIDE W/PLATE)	50	LF	500.00	25,000,00
6	8867000000-E	SP	JOINT REPAIR USING ELASTOMERIC CONCRETE (LESS THAN 16" WIDE)	500	LF	325.00	162,500.00
7	8867000000-E	SP	SILICONE JOINT REPLACEMENT	175	LF	95.00	14,425,00
8	8867000000-E	SP	FOAM JOINT REPLACEMENT	175	LF	110.00	19,250.00
9	8867000000- E	SP	FOAM JOINT REPLACEMENT W/SAW CUT	500	LF	125.00	62.500,00
			JOINT REPAIR USING ELASTOMERIC CONCRETE				241-5-40

			Secretary Control of the Control of	
CONTRACTOR	THC	WORKS	Inc	
			*	

ADDRESS 1021 WOODS X Ranch Rd Benson, MC 27504

Federal Identification Number 20-3075478

(GREATER THAN 16"

TOTAL BID FOR PROJECT: 444,125.00

8882000000-E

SP

WIDE)

Contractor's License Number 19858

D3POC0195	STATE FUNDED	T-2	Onslow	and Pender Counties
Authorized Ag	gent Chi Bufo	Title_	V-Pres	
Signature	Min Banfot	Date_	4/11/24	-
Witness	TAMMY BAR	とFッナ Title_	President	·
Signature	Janney Berefo	# Date_	4/11/24	Ē
	act for Post-Bid Inquires onds, and Contract Execu		ntent,	CORPORATE SEAL
Name	Kelly Ryale			CORPORATE SEAL
Email 7	Lewindra 30 H	emeil		

THIS SECTION TO BE COMPLETED BY NORTH CAROLINA DEPARTMENT OF TRANSPORTATION

This bid has been reviewed in accordance with Article	103-1 of th	he Standard Specifications for Roads and Structures 2024.
Bouloused by NCDOT Hasherto 160	n /	- 5-2-20

Accepted by NCDOT Swith Watty

Phone 9194695943

Data 5-2-2024

WBS Number: 3BPR.10711, 3BPR.20711, 3BPR.10671, 3BPR.20671, 3B.107111, 3B.207111, 3B.106711, 3B206711, ETC.

Pender/Onslow On Call Repair And /Or Replacement of Bridge Expansion Joints

ITEM	DESC	SECT	DESCRIPTION	QTY	UNIT	UNIT PRICE	AMOUNT BID] .
1	0000915000-N	SP	MOBILIZATION	20	EA	7,500.00	150,000-00	V
2	0000820000-N	SP	PORTABLE LIGHTING	10	DAY	293.50	2,935.00]√
3	8867000000-E	SP	ASPHALT JOINT REPAIR/REPLACEMENT (0"- 6" WIDE W/ PLATE)	350	LF	75,50	26,425.00	_
4	8867000000-E	SP	ASPHALT JOINT REPAIR/REPLACEMENT (6"- 12" WIDE W/ PLATE)	350	LF	90.50	31,675.00	
5	8867000000-E	SP	ASPHALT JOINT REPAIR/REPLACEMENT (OVER 12" WIDE W/PLATE)	50	LF	165.76	8,288.00	
6	8867000000-E	SP	JOINT REPAIR USING ELASTOMERIC CONCRETE (LESS THAN 16" WIDE)	500	LF	121.30	60,750,00	,
7	8867000000-E	SP	SILICONE JOINT REPLACEMENT	175	LF	48.50	8,487.50	,
8	8867000000-E	SP	FOAM JOINT REPLACEMENT	175	LF	48.50	8,487.50	$ \setminus$
9	8867000000-E	SP	FOAM JOINT REPLACEMENT W/SAW CUT	500	LF	10,50	35,250.00	_
10	8882000000-E	SP	JOINT REPAIR USING ELASTOMERIC CONCRETE (GREATER THAN 16" WIDE)	30	CF	625.00	18,750.00	

TOTAL BID FOR PROJECT: \$351,048.00	$ \checkmark$
CONTRACTOR Applied Polymerics Inc.	
ADDRESS 131 St. JAMES WAY, Mt. AIRY NC 27030	
Federal Identification Number 56-2021982	
Contractor's License Number 46705	

D3POC0195	STATE FUNDED	T-2	Onslow and Pender Counties
Authorized A	gent Joya than Sin	nmon STitle_	President
Signature	bruff 3 immo	ndDate_	4/29/24
Witness	dal S. Draughn	TitleA	SSt. Secretary
Signature hy	nobel J. Praugh	Date_	4/29/24
	act for Post-Bid Inquires (e. pnds, and Contract Execution		ntent,
Name	nathan Simmons		TIN 1996 ₹ UE
Email Sin	nnons@appliedpolyr	merics. Con	n
Phone330	6-479-1830		
	TRANS	SPORTATION	
	41-41-1	03-1 of the Standar	d Specifications for Roads and Structures 2024.
Reviewed by NC.		1	Date 5-2-24
Accepted by NCL	DOT July My	tatll	Date 5-2-2074

WBS Number: 3BPR.10711, 3BPR.20711, 3BPR.10671, 3BPR.20671, 3B.107111, 3B.207111, 3B.106711, 3B206711, ETC.

Pender/Onslow On Call Repair And /Or Replacement of Bridge Expansion Joints

ITEM	DESC	SECT	DESCRIPTION	QTY	UNIT	UNIT PRICE	AMOUNT BID
1	0000915000-N	SP	MOBILIZATION	20	EA	7,000.00	140,000
2	0000820000-N	SP	PORTABLE LIGHTING	10	DAY	250.00	2,500
3	8867000000-E	SP	ASPHALT JOINT REPAIR/REPLACEMENT (0"- 6" WIDE W/ PLATE)	350	LF	100.00	35,000
4	8867000000-E	SP	ASPHALT JOINT REPAIR/REPLACEMENT (6"- 12" WIDE W/ PLATE)	350	LF	200.00	70,000
5	8867000000-E	SP	ASPHALT JOINT REPAIR/REPLACEMENT (OVER 12" WIDE W/PLATE)	50	LF	250.00	12,500
6	8867000000-E	SP	JOINT REPAIR USING ELASTOMERIC CONCRETE (LESS THAN 16" WIDE)	500	LF	150.00	75,000
7	8867000000-E	SP	SILICONE JOINT REPLACEMENT	175	LF	50.00	8,750
8	8867000000-E	SP	FOAM JOINT REPLACEMENT	175	LF	40.00	7,000
9	8867000000-E	SP	FOAM JOINT REPLACEMENT W/SAW CUT	500	LF	55.00	27,500
10	8882000000-E	SP	JOINT REPAIR USING ELASTOMERIC CONCRETE (GREATER THAN 16" WIDE)	30	CF	500.00	15,000

TOTAL BID FOR PROJECT: \$393,250

CONTRACTOR BAXLEY Construction Company Inc.
ADDRESS 4805 Green Rd. Suite 100, Raleigh. NC, 27616
Federal Identification Number 56 - 1245 083
Contractor's License Number

D3POC0195	STATE FUNDED	T-2	Onslow and Pender Counties
Authorized Ag Signature Witness Mo Signature	rissa Dye	DateTitle	5/2/24 Business Dev. 5/2/24
Insurance, Bo	act for Post-Bid Inquires (e.g. onds, and Contract Execution	•	CORPORATE SEAL CORPORATE SEAL
Email bran	ndon@emcameric	Ca. Cow	
Phone 919	-986-1519		
	TRANS reviewed in accordance with Article 10. DOT	PORTATIO	CAROLINA DEPARTMENT OF ON ord Specifications for Roads and Structures 2024. Date 5-2-24 Date 5-2-2014

WBS Number: 3BPR.10311, 3BPR.20311, 3BPR.10821, 3BPR.20821, 3B.103111, 3B.203111, 3B.108211, 3B.208211, ETC.

Duplin/Sampson On Call Repair And /Or Replacement of Bridge Expansion Joints

ITE M	DESC	SECT	DESCRIPTION	QTY	UNIT	UNIT PRICE	AMOUNT BID
1	0000915000-N	SP	MOBILIZATION	20	EA	5,000.00	00.000,001
2	0000820000-N	SP	PORTABLE LIGHTING	10	DAY	160.00	1,000.00
3	8867000000-E	SP	ASPHALT JOINT REPAIR/REPLACEMENT (0"- 6" WIDE W/ PLATE)	350	LF	350.00	122,500.00
4	8867000000-E	SP	ASPHALT JOINT REPAIR/REPLACEMENT (6"- 12" WIDE W/ PLATE)	350	LF	400.00	60.000,0H
5	8867000000-E	SP	ASPHALT JOINT REPAIR/REPLACEMENT (OVER 12" WIDE W/PLATE)	50	LF	500.00	25,000.00
6	8867000000-E	SP	JOINT REPAIR USING ELASTOMERIC CONCRETE (LESS THAN 16" WIDE)	500	LF	325,00	142,500.00
7	8867000000-Е	SP	SILICONE JOINT REPLACEMENT	175	LF	95.00	14,425.00 Y
8	8867000000-E	SP	FOAM JOINT REPLACEMENT	175	LF	110.00	19.250.00
9	8867000000-E	SP	FOAM JOINT REPLACEMENT W/SAW CUT	500	LF	125.W	42500.00
10	8882000000-E	SP	JOINT REPAIR USING ELASTOMERIC CONCRETE (GREATER THAN 16" WIDE)	30	CF	825.00	24750,00

TOTAL BID FOR PROJECT: 125.00
CONTRACTOR THE WORKS Inc
ADDRESS 1021 WOODS XRoad BD Benon, MC 27504
Federal Identification Number 20-307 5478
Contractor's License Number/01 &55

D3POC0196 STATE FUNDED	T-2	Duplin and Sampson Counties
Authorized Agent Chu BAREFOST	Title	-Pus
Signature Charlet	Date	11/24
Witness TAM BAKEFOOT	Title <i>[</i>	nu
Signature January Benfort	Date	111/24
Point of Contact for Post-Bid Inquires (e.g., Insurance, Bonds, and Contract Execution) Name Kelly Ryaba		CORPORATE SEAL CORPORATE SEAL
Email The WOKKS3 @ Grail.	ism	
Phone 919 169 59 43		
THIS SECTION TO BE COMPLETED I	BY NORTH CARO	DLINA DEPARTMENT OF
This bid has been reviewed in accordance with Article 103		ications for Roads and Structures 2024.

Date <u>5-2</u>-24

Date <u>5-2</u>-262-

Reviewed by NCDOT HOATER TO SAME

Duplin and Sampson Counties

North Carolina Department of Transportation PURCHASE ORDER CONTRACT BID FORM

WBS Number: 3BPR.10311, 3BPR.20311, 3BPR.10821, 3BPR.20821, 3B.103111, 3B.203111, 3B.108211, 3B.208211, ETC.

Duplin/Sampson On Call Repair And /Or Replacement of Bridge Expansion Joints

ITE M	DESC	SECT	DESCRIPTION	QTY	UNIT	UNIT PRICE	AMOUNT BID
1	0000915000-N	SP	MOBILIZATION	20	EA	7,500,00	150,000.00
2	0000820000-N	SP	PORTABLE LIGHTING	10	DAY	293.50	2,935.00
3	8867000000-E	SP	ASPHALT JOINT REPAIR/REPLACEMENT (0"- 6" WIDE W/ PLATE)	350	LF	75,50	26,425.00
4	8867000000-E	SP	ASPHALT JOINT REPAIR/REPLACEMENT (6"- 12" WIDE W/ PLATE)	350	LF	90,50	31,675.00
5	8867000000-E	SP	ASPHALT JOINT REPAIR/REPLACEMENT (OVER 12" WIDE W/PLATE)	50	LF	165.76	8,288.00
6	8867000000-E	SP	JOINT REPAIR USING ELASTOMERIC CONCRETE (LESS THAN 16" WIDE)	500	LF	121,50	60,950.00
7	8867000000-E	SP	SILICONE JOINT REPLACEMENT	175	LF	48.50	8,487.50
8	8867000000-E	SP	FOAM JOINT REPLACEMENT	175	LF	48.50	8,487,50
9	8867000000-E	SP	FOAM JOINT REPLACEMENT W/SAW CUT	500	LF	10,50	35,250.00
10	8882000000-E	SP	JOINT REPAIR USING ELASTOMERIC CONCRETE (GREATER THAN 16" WIDE)	30	CF	625.00	18,750.00

TOTAL BID FOR PROJECT: \$351,048.00
CONTRACTOR Applied Polymerics Inc.
ADDRESS 131 St. James Way, Mt. AIRY NC 27030
Federal Identification Number 56-207/982
Contractor's License Number46705

D3POC0196	STATE FUNDED	T-2	Duplin and Sampson Counties
Authorized Ag	gent Jong than Sin	<u>umous</u> Title	President
Signature	but Simm	_Date_	4/29/24
Witness hyp	dals. Draughn	Title	Asst Secretary
Signature hu	probab S. Drangle	Date_	4/29/24
	act for Post-Bid Inquires (e.gonds, and Contract Execution		Intent,
Name	nathan Simme	on5	1996 ₹ 0 = 10 corporate
Email	mmons@appliedp	olymeri	cs.com
Phone 33	36-479-1830		
THIS SECT		BY NORTH SPORTATIO	CAROLINA DEPARTMENT OF
This bid has been Reviewed by NC	$(1 \land 1)$	93-1 of the Standa	ard Specifications for Roads and Structures 2024. Date 5 -2 -24
Accepted by NCD	and and	tillly	Date 5-2-2074

WBS Number: 3BPR.10311, 3BPR.20311, 3BPR.10821, 3BPR.20821, 3B.103111, 3B.203111, 3B.108211, 3B.208211, ETC.

Duplin/Sampson On Call Repair And /Or Replacement of Bridge Expansion Joints

ITE M	DESC	SECT	DESCRIPTION	QTY	UNIT	UNIT PRICE	AMOUNT BID
1	0000915000-N	SP	MOBILIZATION	20	EA	7,000.00	140,000
2	0000820000-N	SP	PORTABLE LIGHTING	10	DAY	250.00	2,500
3	8867000000-E	SP	ASPHALT JOINT REPAIR/REPLACEMENT (0"- 6" WIDE W/ PLATE)	350	LF	100.00	35,000
4	8867000000-E	SP	ASPHALT JOINT REPAIR/REPLACEMENT (6"- 12" WIDE W/ PLATE)	350	LF	200.00	70.000
5	8867000000-E	SP	ASPHALT JOINT REPAIR/REPLACEMENT (OVER 12" WIDE W/PLATE)	50	LF	250.00	12,500
6	8867000000-E	SP	JOINT REPAIR USING ELASTOMERIC CONCRETE (LESS THAN 16" WIDE)	500	LF	150.00	75,000
7	8867000000-E	SP	SILICONE JOINT REPLACEMENT	175	LF	50.00	8,750
8	8867000000-E	SP	FOAM JOINT REPLACEMENT	175	LF	40.00	7.000
9	8867000000-E	SP	FOAM JOINT REPLACEMENT W/SAW CUT	500	LF	55.00	27,500
10	8882000000-E	SP	JOINT REPAIR USING ELASTOMERIC CONCRETE (GREATER THAN 16" WIDE)	30	CF	500.00	15.000

TOTAL BID FOR PROJECT: 4 393,250	
CONTRACTOR Baxley Construction Company Inc.	
ADDRESS 4805 Green Road, Suite 100, Raleigh, NC. 27616	
Federal Identification Number 56 - 1245083	
Contractor's License Number 115	

D3POC0196 STATE FUNDED	T-2	Duplin and Sampson Counties
Authorized Agent 3 Code	Beller Title	President
Signature	Date	5 2 24
Witness Marissa Dye	Title_	usiness Dev.
Signature My	Date_ S	5/2/24
Point of Contact for Post-Bid Inquires Insurance, Bonds, and Contract Executance Brandon Baxicy Email brandon @emcam Phone 919-986-1519	ution)	CORPORATE SEAL CORPORATE SEAL
THIS SECTION TO BE COMPLET TR This bid has been reviewed in accordance with Arth Reviewed by NCDOT Accepted by NCDOT	ANSPORTATION	N

WBS Number: 3BPR.10651, 3BPR.20651, 3BPR.10101, 3BPR.20101, 3B.106511, 3B.206511, 3B.106511, 3B.206511, ETC.

Brunswick/New Hanover On Call Repair And /Or Replacement of Bridge

		•	-	• .
H W 1	non	CIAN		THEFT
1/2/8/1	WZ III	SIUII		ints
		JA (JA	. •	

P ===		P	Expansion of	_			
ITEM	DESC	SECT	DESCRIPTION	QTY	UNIT	UNIT PRICE	AMOUNT BID
1	0000915000-N	SP	MOBILIZATION	20	EA	5,000.00	00,000,001
2	0000820000-N	SP	PORTABLE LIGHTING	10	DAY	100.00	1,000.00
3	8867000000-E	SP	ASPHALT JOINT REPAIR/REPLACEMENT (0"- 6" WIDE W/ PLATE)	350	LF	350.00	122,500.00
4	8867000000-E	SP	ASPHALT JOINT REPAIR/REPLACEMENT (6"- 12" WIDE W/ PLATE)	350	LF	400.00	140,000.00
5	8867000000-E	SP	ASPHALT JOINT REPAIR/REPLACEMENT (OVER 12" WIDE	50	LF	500.W	25,000.00
6	8867000000-E	SP	JOINT REPAIR USING ELASTOMERIC CONCRETE (LESS THAN	500	LF	325.00	162,500.00
7	8867000000-E	SP	SILICONE JOINT REPLACEMENT	175	LF	95.00	14,425.00
8	8867000000-E	SP	FOAM JOINT REPLACEMENT	175	LF	00.01	19,250.00
9	8867000000-E	SP	FOAM JOINT REPLACEMENT W/SAW CUT	500	LF	125.00	42500.00
10	000000000		JOINT REPAIR USING ELASTOMERIC CONCRETE (GREATER				
10	8882000000-Е	SP	THAN 16" WIDE)	30	CF	825.W	24.750,00

TOTAL BID FOR PROJECT: (074,125.00)
CONTRACTOR THE WORKS Inc
ADDRESS 1021 W0005 XBd Rd Bens, 10 27504
Federal Identification Number 20 - 3075 478
Contractor's License Number 67 85 8

D3POC0197	STATE FUNDED	1-2	Brunswick and New Hanover Counties	
Authorized Ag	gent Chais BAREFA	Title	e	
Signature	Chu Refet	Date	te 4/12/24	
Witness	TAMMY BARFOOT		(5)	
Signature	Janny Benfort	Date	te 4/12/24	
	tact for Post-Bid Inquires (e.gonds, and Contract Execution		of Intent,	
N T	Kall Buck		SEAL	
Name	They Myare		CORPORATE	
Email	e wacke 3@ gmo	a) w	n	
Phone	919669 5943		;	
4				
	TRANS	PORTATIO		
This bid has been Reviewed by NC	12 O 11	3-1 of the Stand	ndard Specifications for Roads and Structures 2024. Date 5/2/24	
Accepted by NCI	DOT Jetter	West	Date 5-2-2024	f

WBS Number: 3BPR.10651, 3BPR.20651, 3BPR.10101, 3BPR.20101, 3B.106511, 3B.206511, 3B.106511, 3B.206511, ETC.

Brunswick/New Hanover On Call Repair And /Or Replacement of Bridge Expansion Joints

ITEM	DESC	SECT	DESCRIPTION	QTY	UNIT	UNIT PRICE	AMOUNT BID
1	0000915000-N	SP	MOBILIZATION	20	EA	1500,00	150,000.00
2	0000820000-N	SP	PORTABLE LIGHTING	10	DAY	293.50	2,935.00
3	8867000000-E	SP	ASPHALT JOINT REPAIR/REPLACEMENT (0"- 6" WIDE W/ PLATE)	350	LF	75,50	26,425.00
4	8867000000-E	SP	ASPHALT JOINT REPAIR/REPLACEMENT (6"- 12" WIDE W/ PLATE)	350	LF	90,50	31,675.00
5	8867000000-E	SP	ASPHALT JOINT REPAIR/REPLACEMENT (OVER 12" WIDE	50	LF	165.76	8,288.00
6	8867000000-E	SP	JOINT REPAIR USING ELASTOMERIC CONCRETE (LESS THAN	500	LF	121. ⁵⁰	60,750.00
7	8867000000-E	SP	SILICONE JOINT REPLACEMENT	175	LF	43.50	8,487.50
8	8867000000-E	SP	FOAM JOINT REPLACEMENT	175	LF	48.50	8,487,50
9	8867000000-Е	SP	FOAM JOINT REPLACEMENT W/SAW CUT	500	LF	70.50	35,250.00
10	8882000000-E	SP	JOINT REPAIR USING ELASTOMERIC CONCRETE (GREATER THAN 16" WIDE)	30	CF	625.00	18,750.00

TOTAL BID FOR PROJECT: \$351,048.∞				
CONTRACTOR Applied Polymerics Inc.				
ADDRESS 131 St. James Way, Mt. Airy NC 27030				
Federal Identification Number 56-2021982				
Contractor's License Number 46705				

D3POC0197	STATE FUNDED	T-2	Brunswick a	and New Hanover Countie	S
Authorized Ag	gent Jonathan Sima	<u>non</u> STit	ile Presid	dent	
Signature	hut Simmons	Da	ate 4/29/2	.4	
Witness h	idal S. Draughin	Tit	le 4/29/2	24 KED	
Signature hy	rolal S. Drauger	Da	nte Asst. Sec	xetary	
	act for Post-Bid Inquires (e.g onds, and Contract Execution		of Intent,	CORPORACE.	
NameJD	nathan Simmons			1996 & OCUMPORATION	
EmailSIW	mons@appliedpolyn	series.	com	William.	
Phone <u>33</u>	6-479-1830			3	
		PORTAT	ION		
Reviewed by NC	reviewed in accordance with Article 10.	3-I of the Sta	ndard Specification	ns for Roads and Structures 2024. Date 5/2/24	
Accepted by NCD	OT Juth of	Will	Α	Date 5-2-20	24

WBS Number: 3BPR.10651, 3BPR.20651, 3BPR.10101, 3BPR.20101, 3B.106511, 3B.206511, 3B.106511, 3B.206511, ETC.

Brunswick/New Hanover On Call Repair And /Or Replacement of Bridge Expansion Joints

ITEM	DESC	SECT	DESCRIPTION	QTY	UNIT	UNIT PRICE	AMOUNT BID
1	0000915000-N	SP	MOBILIZATION	20	EA	7,000.00	140,000
2	0000820000-N	SP	PORTABLE LIGHTING	10	DAY	250.00	2,500
3	8867000000-E	SP	ASPHALT JOINT REPAIR/REPLACEMENT (0"- 6" WIDE W/ PLATE)	350	LF	100.00	35,000
4	8867000000-E	SP	ASPHALT JOINT REPAIR/REPLACEMENT (6"- 12" WIDE W/ PLATE)	350	LF	200.00	70,000
5	8867000000-E	SP	ASPHALT JOINT REPAIR/REPLACEMENT (OVER 12" WIDE	50	LF	250.00	12,500
6	8867000000-E	SP	JOINT REPAIR USING ELASTOMERIC CONCRETE (LESS THAN	500	LF	150.00	75,000
7	8867000000-E	SP	SILICONE JOINT REPLACEMENT	175	LF	50.00	8,750
8	8867000000-E	SP	FOAM JOINT REPLACEMENT	175	LF	40.00	7,000
9	8867000000-E	SP	FOAM JOINT REPLACEMENT W/SAW CUT	500	LF	55.00	27,500
10	8882000000-E	SP	JOINT REPAIR USING ELASTOMERIC CONCRETE (GREATER THAN 16" WIDE)	30	CF	500.00	15,000

TOTAL BID FOR PROJECT: \$393,250				
CONTRACTOR Baxley Construction Company Inc.				
ADDRESS 4805 Green Road, Suite 100, Paleigh. NC. 27616				
Federal Identification Number 56-12450 8 3				
Contractor's License Number 11115				

D3POC0197 STATE FUNDED T-2	Brunswick and New Hanover Counties
Authorized Agent Branks Baxley Signature	Title President Date 5/2/24
Witness Marissa Dye	Title Business Dev.
Signature My	Date 5/2/24
Point of Contact for Post-Bid Inquires (e.g., Let Insurance, Bonds, and Contract Execution)	ters of Intent, CORPORATE SEAL
Name Brandon Baxky	CORPORATE
Email brandon @ emcamerica.	om
Phone 919-986-1519	
THIS SECTION TO BE COMPLETED BY N TRANSPOR	
This bid has been reviewed in accordance with Article 103-1 of t	
Reviewed by NCDOT Brown	Date 5/2/24
alter on la	5-7-7024